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BHAE: ATLRYT fRLA—/L:1.2.3456.7.89
(WrS—Hy b AYTER @ BHE36, LM40, Bxy b 48) OuT Jkoko ok ok kK
| N Xk koK ko kK,
20254108138 (B)
NAME OUT| IN [cross| Hep | NET NAME OUT| IN [cross| Hep | NET
1|+ A —|45 |48 | 93 |22.8 [70.2 |25|F8 8 fE —|40 |43 | 83| 6.0 |77.0
2 |H 0 fd E|46 |54 [ 100 [28.8 |71.2 [26|# LU & X|b1 [49 | 100 [22.8 |77.2
3 F % |51 |45 ] 96 |24.0 |72.0 |27|% #0 Z(51 (48 | 99 [21.6 |77.4
4 %2 B & 8|49 [b3 | 102 |30.0 {72.0 (28| & E|46 |47 | 93 |15.6 |77.4
5\ @ & |44 149 | 93 (20.4 |72.6 (29| & R KF|46 |53 | 99 [21.6 |77.4
6 5R @ & |43 [42 | 85 [12.0 [73.0 [30(/N BB B %47 |52 | 99 |21.6 |77.4
71 F = (48 |42 | 90 (16.8 |73.2 (31| K& =47 |51 | 98 [20.4 |77.6
SR ¥ —|41 (42| 83| 9.6 |[73.4 (32(% HF = H||45 |47 | 92 |14.4 |77.6
9 |#A 8 & BA[45 |47 | 92 |18.0 |74.0 |33 |EEBR HE|43 |56 | 99 |20.4 |78.6
10|Ba] 47 2|46 |46 | 92 [18.0 |74.0 [34|& AR & J&|44 |42 | 86 | 7.2 |78.8
11(F 0 #F  #h(49 |48 | 97 |22.8 |74.2 |35\ HH %% #0|48 |50 | 98 |19.2 [78.8
12|/ R 2= <F|51 (44| 95 [20.4 |74.6 |36|1L H Z& #&f|57 |47 [ 104 |26.2 |78.8
IRJE 15|40 |41 | 81 | 6.0 [75.0 [37|7R 2 %0 BH|b52 |b2 | 104 |25.2 |78.8
1410 B 5% #|48 |56 [ 104 |28.8 [75.2 |38| & EH & =|50 |51 [101 |21.6 |79.4
15000 B¢ & =1|52 |46 | 98 |22.8 [75.2 |39|& & & &|50 |44 | 94 |14.4 |79.6
16 |Ix B |40 |45 | 85 | 9.6 |75.4 |40|RILEF [EF]|46 |46 | 92 [12.0 [80.0
1785 K 2 ££(48 |42 | 90 |14.4 |75.6 |41 |k BF oF |49 |46 | 95 |14.4 [80.6
18(#2 A 1% =48 |48 | 96 |20.4 |75.6 |42|%k B& Z& |52 |bb [ 107 |26.4 [80.6
198 7 B sE|45 (44 | 89 [13.2 [75.8 |43 Bk 48 |48 |60 | 98 |15.6 |82.4
20|7< B8 B F|44 |43 | 87 [10.8 |76.2 (44|85 K & 60 |5b [ 1156 [32.4 [82.6
21|F )R 1E JB|46 (40 | 86 | 9.6 |76.4 |45\ = f&| 53 |55 | 108 [25.2 |82.8
2|H % |41 |45 | 86 | 9.6 [76.4 [46|K /1 BA FO{54 |55 | 109 |24.0 |85.0
23|Il & FB 2|47 (44 | 91 [14.4 |76.6 [47|H B 1E Xk|56 |51 | 107 |21.6 |85.4
24| K ¥ & BA|46 [44 | 90 [13.2 |76.8
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